OEMA A

Al.a.2,B.2,y.A\, 0.2, €. A\
A2.1.a,2.¢,3.01,4.3,5.6
©EMA B

B1. IX. B SEA. 119 a) kat B)
B2.2X. B ZEA. 228 a),B),y),0) ko €)
B3. 3X. B ZEA. 297 a),B) kav y)

OEMA T
1. n=P/Pi—0,8=8000/P;:—P1=8000/0,8=10000W
2. P1=U*Ir—10000=500*Ir—Ir=10000/500=20A
3. Ea=U-I*Rr—460=500-20*R720%R7=500-460
—20*R1=40—-Rr=40/20=2Q

r4. I.=U/Rt=500/2=250A

5. I'=5*Tr=5%20=100A
I'=U/(Rr+Re)—100=500/(2+Rc)—2+Re=500/100
—52+Re=5Re=5-2=3Q

OEMA A

Al. ns=(60*f)/p=(60*50)/2=3000/2=1500rpm
s=(ns-n)/ns—0,02=(1500-n)/1500—1500-n=1500*0,02
—1500-n=30—n=1500-30=1470rpm

A2. P=(T*n)/9,55=(19,1*1470)/9,55=2*1470=2940W
A3. P1=P+Pan=2940+372=3312W



P1=V3*Un*Iyp*ouvp—3312=v3%230V3*1,,*0,8
—3312=3*230*0,8*1,,—3312=552*1,,—1I,,=3312/552=6A
A4. YNAEZMOAOIIA TPIFQNOY
Ip=V3*Ip—6=V3*Ip—Ip=6/V3=2V3A



